Complex Numbers Notes

What is i and how does it work?

[ =J=T" imoginany ¥3
$€ﬂ=lafLw'=Lw

U
-H0' = FWW 2eN10"

Solving for X b

*S@mm Yoot o Spve 7

K oWy s recumce
3?{36—
x=rL)

5 x*+25=0
[F=F25 =~ r—'r
D(='1’5Ll )

Complex Number O A b L

Yeon \W\OCU‘

Adding/Subtracting
¥ CoMod WK TermS

X X~

The rotation: ﬁi&?_ - Remu
Rli=J=' =L
R2 =) = -|

37 =) = FFPP-—L
MoR 7= WFCLC"-!

1.i9=L B LR

4. x**-40=

J’l-—qo
-—\-J_ﬁ

B—+zmﬂ

6. (x-5)’ +10=-26

Jx =" =30
-5 = T \yu

A
\X= B2 ul|

oy 0% x= +yl+D

7. (3+7i)+(=5-6i) 8. 2-5-6i-9 9. 2(3-%)+(7-3i)
..‘2_.‘.(: —L*L,-IL'\ :|D*_8L,+—T—3L
| =111 -ni|
10. (3-111) 27 -8i) 11, 4(12+4i)-6(~1-1) B
= 3-)\L-1+8L = 4+l +1 +\aL

= |-4-3(|

=[B4+220)




Multiply

% ( X )~ FoIL

¥ L% =
12. 2@) 13. (6—52(44;71‘) ) 14. (4+9i)(4-9) ‘ .
= 3L =L = 24 +42(-20( —35L =\ —WL
@ ,/\f 8N -LL T 24+ 220 =31 g =MD
-F8-ui|  T|parz;ai| PP Tl43

Divide (Rationalize)
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